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' SLOPE-INTERCEPT FORM

Essentiol Question: {OWN A0 T WYite an eguation
ailen 3 Sloge and a \-inyercept 2

m=5

Bamboo can grow very quickly. The Bamboo Growth

graph models the growth of a bam-

boo plant. N
Cr0SSeS N-3X\S

1. What is the y-intercept? What does

this tell you about the bamboo plant?

Height {ft

(0,20) ; Tl sttt
Tne oanmoooPlant was — Lsrf"\el‘z \-Edit..-
20 Seek T3\ a* -\-\ne, n S N Sl
Deg\f\“\ nq Time {days) \\ Y '%Lz

4. How many days will it @ »
take the plant to grow to y: L szeq

2. What is the slope of the line? What
does it tell you-about the bamboo

yhat are the slope and y- Intercept of the
graph of the linear function y
is the rate of change of the fynctlctn?. '
b=-7 ~Niny
Tvatre of change! -
what is an equation of the line with‘slop.e@and a y—intercept B@?‘

Yy
ert

plant" 60ft? Explaln how you got
- pSE_ 1o feexr _ \ this)angwezr - C,\LUA\-&TE
?_UN - iU riaﬂi" ‘ . \ZD([‘ _4‘ ’v?‘ i
e plant Qows Ifboteveryday. 4y de\{s ™5 /

5. Create a table of 3 solu-
tions of the bamboo plant

3. What is the equation of this line?
Write a complete statement about
the bamboo plant and the equation of

the line. \\: MX‘\'b .

point represents.

growth. Describe what one Which equation represents the
line graphed below?

mg 2 lrate 04 cthangé

? What Remember: Rate

. of Change means...

SLOPE!

8. Referto the function represented in the table betow.
X | 4
+\ ¢ -2 9 -2
+\ Vs -1 7 > 'z
‘_, (.U_ _5__.} ‘-:’ ._z
e 1 3
L 2 1
a. What Is the slope?
W)= &:i = \
b. Whatis the y-intercept? when x= =0
(05
=X+
c. What is the equation written in slope-intercept form?
N=-2X¥5

10. A plumber charges a $65 feeQQﬁ
for a repair plus $35 per r hour QQ

_ i - A WERY At 30dMS
m’\ S . dn L,‘ § X J
=20 \\’\x i . ’ﬁr\‘%{o e pnt
ol sopfeet 3]
' ol

Write an equation to model the to—
tal cost y of a repair that takes x
hours.

4= 05 +35X

STOPe TO N Cepk- a4 D R, it B i

y=mx +b

Find a_point on your. line. Write a
complete statement de-
scribing what one point

y=3x+4 | - means for the plumber.
V=__“*X+§ - \(\0' ¢ (\.100)
L 1, y=-3x+4 ov\o\ees FoY \houv,twne
S OP\: AT > =03 ] in calel cost 1S §10D

Moye - skt points ; mnmg



WIS E A 0fF/15
: Direct variation LOPE-INTERCEPT FORM INEQUALITIES 1
Essential Question: Howy A0 T wike 4ne ch\)a‘\"\bh mﬂ,’gﬁmmw 303 Qraphn an Ingualiry 10 2 Nav\a\aes |

of fwb vaniavo\es 1 va e
ARy gnset - SN POLOY TS| (MBS e T
_______________________________________________________________ o) .
’ , B o T ReS 1N Snaded Yo ion - NOT ovidptied L Aet
i Direct Voration - Propocriona\ retdtionghip W5 areR)
:: WhQX'Q \‘—_;\é,)( ) . Identify three solutions to the linear inequality. h@ f,@w
: 3 T yaxe3 B. You are buying paperback and x - op
i = -A-Trillion. Pa- itst
ey non2e constaht T R SIS
! . NV bex’ 0 3 ebooks are $2.50each. You can \ \nﬂ.‘
:‘ . 3 T2 1 spend at most $20. Whaf,t are ttt;e J 2 QL‘S/J-
u---__-_-_h____-____-,__-h__--_h__-___..________u“---af-,_.--;__::_ S B T possible combinations 07pé1l36r Gl
BASCALLY, Birect Vaviation is an equation in slope-ntercept Form %‘r Q? - e e
CNZMAEY ) wirere =¥ _andb-_0_ 1 — N 2 T¥ IfNison
___ 0085 vy Ovigint | L& 3 | O e (eft. ..
Identify if each of the following is an example of direc : E“\‘ . 7 L Shade | Shade
variation. If so, identify the constant of variation, S0% ! IRt L1 7 Ug | bown
1. y=4x 2. 2x+y =10 3. 3 HGy=0 T TREEE e [
f-fy'ggj - 3K y'kB)( N g CP 2 <
N M L L v SRR B |
E:—’_ﬁ_,i j_] Q_Ul o+0 ﬁ;\?ﬁj S v ! Sold > <
4, Y\/_Qﬂﬁs_d_megﬂy with x, and y is 84 wheQ X is 16, - \{.: %x in S\”\Bd?ﬂ QYQB\'" — e -
s the dorel S o DM IAN=BY, =1l
A, What is the constant of variation?. - Y= E.Q*_D_} h or : - i S
= 9.2 To b O\We fox™ | e <
B. Write a direct variation equation to represent this s — 5
situation, \‘::‘ 526;( ol
; ‘ o : - \
5. The amount of chl rine, ¢, needed for i i | S
directly with theoamount ofwater,ow,ansqzz?trc])gfipl)logmevzz - Wy UWV'! é
If 16 units of chlorine are needed for every 1250 gallons « — < W

LWL
a{ugfl?) b=2

-
water, write an equation that represents this situation, Graph Q',_E,\urz elow 3. Write the linear inequality that represents the graph
! \ =KX C=lb w=l250 red . S\hade we
N i amayaEazeay

C=KW =K~ 1255 RESESEERENEASE:

| V = v 1280 T1250 SRR
_"\\_/" C - O N l2‘ > \ 5 5 t G
E- _(_)l'Z:_BV}l } 0-0129 =K R A
6. Ifyis directlyproEorg'_g_r)_a_l toxand y=8 W \‘\;/r :

when x =10 ,u'what is the value of y'when x <52 "

E{:,’H ."s ﬂ\x‘_\m

¥ $e.e vanoot v 9 yiva Qrackce! ¥
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5 POINT-SLOPE FORM

Essential Question: HOW dg I wiite +he equation of
S line %W-%\n aQ PoInt (not +he\{-m\-)e$\d as\ope»?

Varrical
W ndefined siope

-—
-

HOY
S"’P e‘\“&'\ib\ﬂ
-1

point L_X\\\‘|) ~T€ T see 3 number,
t puta numbor in
irs p\a&

¥ s
........ -+ Y]e\ 5 . . .
Q 'po\ni +ha\'\s N \ég‘\‘;f\(‘?f;{zezé‘w md yorizontal or vertical lines? _ v ‘L’

jow do I write equations of

5. Write an equation of a line having 6. Write an equation of a line ‘having
an undefined slope that passes a s.Lon.e.o.f.Q.that passes through
1. erte an equatlon that represents a line having a’slope olethat :hAr;zgh e palt (5 b3) the point (-3 Q —
2?:Is:.eesfthrough the point SZ 2). Write your equation in point- \ HD\’
orm
vexheol )(.—
B y-222(x-7)
2A. 2 7. Write an equation in slope-intercept form that rep-
Use the point §lope equation from #1. Solve for y. resents a line WMPE of 2 and an x-intercept of 5.
N=Z = 2()( ?’) 0=2(¥ %) ™M (:,310
N:7=2 ] §-072(X-5) Y
3 !r) -i j) - -—
—de ¢\op2 It ceptHrm: y= 2X-10
\L‘ ZX-\3 & Tmxrb - |
2B. Wh

tis the relationship between point-slope form of an

- equation and slope-intercept form:' ; _ . 8. A repairperson charges $25. DCL(Eer hour plus an initial service-call charge.
Botvh n s\¢ ¥\ v, and $\ne 510‘9{* : ; The bill for 3 hours was $105.00.

A. In the problem, what is the slope? m = 25

B. What informatior WOL||d be a point on the equation of this situation?
3. Write an equation in point-slope form of a line T

'p .
) c |
Plua | —r hgng a slope 0;3 that passes through the Wﬁat does th!s point represent? &% ’Jx\'v:}\nf, 3 wosts -‘;[va
g n AL . ()c4 1) 2 § D. Write an equation in point-slope form that represents this situation
you knowll — ‘ = (X-"L‘) where:‘} is the number of hours and c is the total charges. \
/4. Write, t “-'hi"'()“'“l - IDL* - { %)
an equation in slo e-intercept form havin ? Sh s
_ = slope-intercept g E.What was th ervice-call charge? C"W R
\‘ mxybo ‘ S De of -4 tfl':_a(t passes through the paint (1 5) so\ve foy int S’ +10S
oWy g (%-1) §20 Co) C=25h (30
- = -H - -4 ¥
\‘ \\l \' He S + f F. What will be the bill for 7 hours?
fory TN ]

~‘_ \_3__ —L\X*’q,“ R % “—1‘ 1"'50 $%S
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’ POINT-SLOPE FOX mswm.:ﬂss
Essential Question: HDW d.OI T&ph tneq))uahﬂ es . +1§-3(x+2) A‘WV\ 3.y - 4(——()( 3) . dotted
| {n’« m:= -3 dwwn
vzr\} \ i

|

qiven in PD\O\'*S.\OPQ Rovm

1 dwim - down

(3 \"0

[[][REMEMEER: y - Y, M (x - X

Shade | Shade
Up Down

-----------------------------------------------------------------------------

1. Start at the point (x1,y1)

2. Using the slope, count the rise and run, plot the next
point. YY\NE § (Y R¥KR Rw Onl gl

3. Determine whether to draw a dashed or solid line.

4. If y is on the LEFT, use the shading chart! Or you can

test points. v Aowh

Graph each inequality, Determine which point is a sulutlon to the inequality.
N %y Tin smciJ pari—
L y-122(x-4) -~

point: (l-k ")
= 2 vp?
0z 5 vight\

BE o

€X\'Qﬂd 2 l\(\CaS
far asyou can!
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StaNdard Form €quatioNs | ©

oDl
Essential Question; WOW CON'T R\ H12 1008, x-in, amd yoiny METH

o t6 slope-intercept 2 Rt |
and qvaph 3w Q%U'M“\Dn Iin Q*a“dt‘“dﬁrh‘:r::lzr;dogfazh Nlﬂ ; '
i - e 5y . : /13’
Ax + By - C ®46}( %X_‘,_& -—:..e..,{d.;...:.ii_i/..l/*;{_i‘#”—'
A-\-B ahdo QI‘-Q, \ﬂ'\'%-llks [\JV\U& t ()05 ofh _5 _5 _5 g-ll‘;;‘rr/ {SIO_)
2. Usually Ais not Neoanve *l 3, 3 BB oaf
» Aand B_can both pezern. ' Wi e
\@fn: S \’\qh v
b= ~2
X IETHOD 2
ETHQD ] METHODD 2 ind and graph x- and’y- | ,
atercepts. I I e
JO \ve ﬂ)ri COVER up | sxosess -
x-\-b Mt ool Go) %K \2 :
. \
mﬁ Q!)ro find the x-intercept

N\INZ \PWy Ax term 1o
Hhe otner Side b

or f\hb'ﬁta(hnra

SECTNY

DiVide oienytningoy B
STEP THeEE
/V\/P/.\?/\-

Qrapn e \-intvcepton
RAL A -aKS and Vse e

Slope (m) 10 mIe Jnothlr

poiny.

\ adding

(X\®) @y-int: g- o,\{-‘ 1S

Mg in 0 for i

(cguex ve y) and e (0,-3) -__%1 15

q{* . b\l ”-selp \‘ =-3 . . iNtS!%x
T.nﬂu.d__thf:.y_wtercept (D \') . :
D\“g {n o .FD(\-X d-‘—\h ST Athﬁ‘z t%“qsdt?d?a:ln ::f the-line that passes through the point (4, —8) and
CC,OVQk UPx an Ly 4. Whatis the aquation in stan & \'
g&" \‘ b\\ \.\,S,c\ p has a slope of %?

FRARELY

POINT has X 3y,
S0 doeg DU

Graph your intercepts and
connect the dots!

A X—4y:~36

B x -4y = 28

24vation’
€ x —A4y = —36
D x -4y = —2B ' _ .
we could Solve all of Yo for out notice

ow oV oy the vight Side is d FF2vent !
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Essential . estion: HOW A 0T Oy apy) an \ ne% 0S] ,‘4«1 Blanca has $40 to spend’on refreshments for herself and her
"0 S'\'ahdévd V@i 2 friends at the movie theater, The equation m&%bﬁ#ﬁ*
: describes the number u'ﬂa'rge'gg_p_gdms,_a, and small drinks, ¥

: ! ‘ she can buy. Use this infofmation to answer the following
Te Tnaph Linean Mequalitins . |Shade[Shade questions. i i f
*  Solve your . Be careful | |— Up | Down |\ R § e e v,@gx.‘e v wﬂf
If you ci by anegative!l ]} P! : . 3. What is the slope of the |4, What is the y- i 5. What Is the x-
¢ Name your slope (m) and y-infercept - Détted equation used to model i intercept? What does it ! intercept? What does It
Y pt 8l . |
::J?I:th b I this situation? : g’a‘n in thiszcenarlo? i mean in thiwn‘zﬂ&g
8 your y-intercept (where you : €1tov gRYZ 0 i ¥
Begin) and use your slope ?o@zke fore > < SoW foq [)\l E _';l lj’i : ‘.'7‘.52( 5
points. - Soild | = | oxx 2y ax i 2720 : x<8
« Declde If yourinéls dotted or sold y . b =9 : v i at
« Connect the dots & shadel ' 2y 4-5xvH0 | ung-i o She con W
273 7 (She N paask B popoavias
7 2 AL S
- 3 il i k
1. Graph the inequality 2x — 4y & 8 So\ve for N - 5 _ -i'-Pi’?C““ ‘ o on O¥S
e — — 2X Lo | A — S
So\ jﬂm S mE 'ZX,"I_@ FUP‘Q\_] 6. Whaf does the point (,2t mean% 7. What does the' point (6, 5) mean
\ o i S -4y - -4 ™ g nsl ; in this sitjation? Does this point i in‘this sifuation?® Does this point
o - -1 P ' q i represent a solution to Blanca’s ! represent a solutlon to Blanca’s
5 ‘“\ e Ta - \' z EX ""Z_- ; . situation? Explain your reasoning. i situation? Explain-yeur reasoning.
S : - . Ll popcoYW. 0
e T D
m 2 *-:->-' S(ﬁld 3= ) 'd.ﬂﬂ\’-g 1ess ¢ S dﬁ‘nnv‘s s —
b=-2 .- T gzl <Me? ma\q‘ sl)+2(5)<to?
| e TR T Tzzenv WML GOSA0
< 2. Graph the inequality 8x +4y >12 i N Y Vo T Tt PR S... T
— B ) _ ‘ 8. Which equation can be repregq'\ted by the graph shown below?
"_"Llj?”ﬁ_l‘*.l_?_‘ ERCIE ] R % A -5x+10y+30>0 "
= 4 4 ] e e 725 5x -10y +30>0

1:2: D 5x+10y -30>0

a3 T by - N L 18
TRNCELEE m=-2 S -dotted ;i él | : t .
N aa ] -up w91 '
B b=3

SOluHoms are nat ondo Heoh line
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vSe a straightedge)

Yo ean SWANS Solve an equation for- and
e ck iN Pour lumistor !

3 SIROKQTIES FOR GRAPNING EQUIAHONS see 2 H
Essen’ﬂal Question: HDW d.D '.\: QY%Y) &“ %\A’&hon 5. (9 -4y (-3, 4) J'e,c 5’—\ 6. M=~ % passes through the point (6,-2)
m an 1T ] I
( \\ o EE:? e Emm = o
(ST ——rT usf % points fo make a line! N - S
& * Slope= ENENELSEENEE Eam P
g o YouBegih = the | *m'&'@rﬁcpi ® (y-3xis) EEEEEEEEL mEE _ .
= e To find x-intercepts, N :* _.*ﬁ‘ = ‘ - ] - ~
= o To find y-intercepts, COMEN VP A = 5 B 3 L
Given the following information, graph each equatlon and wrlte ! = -
the equation in slope-intercept form. Slope-intercept form: y=%_x_f_’]g_ Slope-intercept form: y=_"_%_r‘_+_L
1. 1‘ \ls‘ xs“s = &li-'! % =2 h "
®N 2, = R h the point (2,-3
( ) ( ’}' x r1n Iquasses t':crug the point (2,-3) 7. 2x+3y =6 See '”'3 8. Rate of change: -2 ; y-intercept: 2 g
amh ViS5 : A : | . set
7 / R =
A aEEEe=s BanS BEs
F | _E_ i - . o
i = e ‘ ks o,
i P = <
yf ‘1 Iy 3™ ) Y b ! A
i i ¥ ) SIS AP -
Slope-intercept form: y= a K""Ql . SIoE)e-intercgpt form: y=31.'q .

3.3x-y =9 4. Slope: 3;- y-intercept: .—9
ST -'
e '
0“ F ; ‘."" ’1
> y
ri >

§ - & /
i [

x-int: (2 ,0) y-int: (0, =71) \{: ?;x-—q
3x =9 *‘2’%"% r ol

3 3 m vy

-9
X=3

5M

Slope-intercept form: y=

x-int: (3 ,0) y-int: (O, L)

N2y 42
-2
Slope-intercept form: y= "'é Z "Z
SUMMORY. _
If they give me 2 points.... STM 'Ed\o*; SO ﬁj&(

-use slopeformula 3
- p\0% mﬁ points (br connedt with a Stright

Kne) v &nd y-intarcet.

IF they gl:; :egom'n* “‘gﬁ'ﬁa Forn (NN =mX=x,)) 3 solve fory

. plot point 3 use o v find N mi-ercepi'

which fovym

\= mx\—\oe-name ma3v
dv T pave?

covex merhod ov
Axy BN=Ce comz\‘r’ ° \=mxtb



STAAR ALGEBRA 1
REFERENCE MATERIALS

FACTORING

Perfect square trinomials

" +5 & - g

v M A

g i S
N = i

a® +2ab + b = (a+ b)?
& — 2ab + b* = (a— b?

e -
Difference of squares

PROPERTIES OF EX PONENTS

Product of powers

aZ—p =(a—bya+b)

@Mt = a[m+n)

Quottent of powers

ar -
.= gFm-n
all

Power of a power

(aﬁ’Y)n Sare al')‘![l
: m
Rational exponent an = a7
I
Negatlve exponent ? = 57

Standard form

5lope-intercept form

Point-siope form

=

Slope of 3 line
iy

= A

QUADRATIC EQUATIONS

Standard form h : o

e |
e

Flx)=axt+bxtc

Vertex faorm Faaw g

F(X). = B(x — hY +%

Quadratic formula

" a 3 - - x

—b V0" 4ac
U= e
238

|

Axis of symmetry ..




